
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/2014-lathe-optional-bed-extension-assembly
7/3/25

2014 Lathe Optional Bed Extension
Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/2014-lathe-optional-bed-extension-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/2014-lathe-optional-bed-extension-assembly
7/3/25

Description

Index
Number Part Number Description Size Qty

 6294755  Bed Extension Assembly (item # 1 thru 6)  1

1  PM2014-301  Bed Extension  1

2  TS-0209071  Socket Head Cap Screw  3/8"-16x1-1/2" 4

3  TS-0720091  Lock Washer  3/8" 4

4  TS-0680042  Flat Washer  3/8" 4

  PM2014-ERPK  Extension Toolrest Post Kit (item #5, 6)  1

5  PM2014-305  Extension Toolrest Post  1

6  PM2014-306  Locking Handle  1

  PM2014-TEA  Toolrest Extension Assembly (item #7 thru 10)   

7  PM2014-307  Toolrest Extension  1

8  JWL1440-206  Handle  1

9  JWL1440-207  Tool Rest Lock Bushing Set  1

10  TS-0570031  Hex Nut  3/8” 1

Additional Information

Stock Number 1792014-5

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/2014-lathe-optional-bed-extension-assembly

